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s AKIE LA IR R Tk (265m)
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No.20 B+ 100mBH# . .
SR ETER 1:11.26
& 80~84m > AARE  1:13.32
IBhL B4 TR ER R IKE& B fE #TEcEk (R.T)
1 s =& ADEH 1/3 1:25.70 ( 0.90)
18. 56 40.01  1:02.73
2 K Zp JEAWW S C 1/5 1:27.85 ( 0.77)
20. 52 43.04  1:06.30
No.20 BB+ 100mBHE# . .
#EREE  1:04.80
L 15~19=% > BAZE  1:06.36
B K4 TR R K& BF fEl  #TEcEk (R.T)
1 BB MR o JLEE 1/ 2 1:48.36 ( 1.07)
93.77 51.84  1:19.23
No.20 B+ 100mBHE# . .
#REE 1:01.70
L 10~T74% > ARG 1:04 62
B K4 B ER R K& B M FEcEk (R.T)
1 ER il ZY3ISS 1/ 4 1:22.64 ( 0.86)
17. 62 37.93 59. 17
2 [ B Rs—style 1/ 6 1:36.27 ( 0.97)
19. 16 43.02  1:08.90
No.20 B+ 100mBHE# ;
SR ETER 55.87
& 60~64m% > A& 59. 69
IBhL B4 TR ER R K& Bl #EcEk (R.T)
1 Yl XL -7 1L 20 2/ 4 1:00.47 ( 0.65)
13. 52 28. 76 44. 49
2 BH sz -7 L AT 2/ 5 1:01.84 ( 0.75)
14. 49 30. 37 46. 15
3 EiE EA PNRZSC 2/ 3 1:10.48 ( 0.83)
16. 59 34. 05 52.17
4 =R FEZ aF I DEE 2/ 7 1:17.37 ( 0.78)
16. 96 36. 49 57. 30
5 =R ER FIF0BOG 2/ 2 1:22.22 ( 0.88)
18. 90 40.20  1:01.56
No.20 B+ 100mBHE# .
R 54. 32
& 55~H9m% > A& 56. 18
B K4 R ER R K& B #EcEk (R.T)
1 ARk Ry FINE ST 3/ 2 1:04.36 ( 0.65)
14. 29 30. 81 47. 86
2 k& sl OKSS 3/ 3 1:06.21 ( 0.82)
14. 97 31,42 48. 42
No.20 B+ 100mBH# .
R 51. 49
& 50~b4m > EERE 53. 84
IBhL B4 TR ER R K& B fEl  #EcEk (R.T)
1 AH  BEXC ~ A AH— 3/ 4 1:00.07 ( 0.72)
13. 66 28. 35 43.98
N = A/NEL 3/ 6 1:06.89 ( 0.80)
14. 63 31. 14 48.77
3 ) % 2 R 4[| 3/ 7 1:12.70 (1.14)
16. 61 34. 72 53. 74
4 TR i KPR PESC 3/ 1 1:18.66 ( 0.83)
16. 66 35.93 56. 94
HAHEE:  4H2H 13:01
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No.20 B+ 100mBH# .
& A5~498% > BaER 4090
IBhL B4 TR ER R K& B fE #TEcEk (R.T)
1 JIA FEZ - A 4/ 5 59. 04 ( 0.72)
13. 44 27.89 43. 39
2 B E— MTR 4/ 4 1:00.09 ( 0.75)
14. 08 29.19 44.71
3 mH PAT I =X 4/°3 1:00.58 ( 0.78)
13. 55 28. 64 44. 36
4 F=vm A h~U4E 4/ 6 1:01.04 ( 0.68)
14. 16 29. 28 45. 16
5 ot —3¢ YEBISU 4/ 7 1:01.56 (0.71)
14.29 29. 50 45. 41
6 ik fif— KHSsS 4/ 2 1:02.42 (0.74)
14. 50 30. 04 46. 06
T R Ve 4/ 1 1:09.06 ( 0.69)
16. 30 34. 09 51.43
8 H)Il  Fnzz IR AT ST 4/ 8 1:10.40 ( 0.67)
15. 56 32. 58 51.18
9 A M 7y F—Rx 3/ 8 1:21.36 ( 0.78)
17. 07 37. 30 59. 19
No.20 B+ 100mBHE# .
& 40~44% > Bams oo
IBhL B4 TR ER R K& B fEl  #EcEk (R.T)
1 O CREE Team—2G 5/ 4 56. 88 ( 0.67)
13.03 27.90 42.79
2 =N B 7R A 5/ 5 57.51 ( 0.69)
13.11 27. 60 42.81
3 JRHE HZFE HiFFx 5/ 3 58. 81 ( 0.69)
13.26 28.21 43. 65
4 =W IERK v % ol 5/ 6 1:02.05 ( 0.66)
14. 17 29. 90 46. 32
5 [Lme FE I R NZ 0 5/ 1 1:04. 86 (0.71)
14. 46 30. 90 48. 02
6 HIE B ~a MR 5/ 2 1:04.99 ( 0.68)
14.15 30. 23 47.59
TR OET 3K+1 5/ 7 1:07.39 (0.77)
14. 55 31.01 48. 90
8 Ful  FE— A b~ 5/ 8 1:09.67 ( 0.82)
15. 05 31. 98 50. 48
9 Hiy HiH BIG#F+~X 6/8 1:16.86 ( 1.03)
18. 40 37.72 57. 46
No.20 ¥ 100mBH#2 e .
& 35~39% > Bams oo
B K4 FrEEE R K& B fEl  #EcEk (R.T)
1 I Bwh v e GHFE 6/ 5 56. 49 ( 0.70)
12. 85 26. 97 41. 63
2 IR fEt J S ST 6/ 3 59. 74 ( 0.82)
13.08 28. 03 43. 64
3 EHME KA vz sl 6/ 2 1:01.17 ( 0.73)
13. 46 28. 64 44. 84
4 /NHOOEER A HR_R— 1 6/ 1 1:14.52 ( 0.79)

16. 78 35. 30 53. 83
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No.20 B+ 100mBH# -
SR ETER 47.29
L 30~34mE > AARE 49. 50
B K4 TR ER R K& B fE #TEcEk (R.T)
1 SFH s RIS C 6/ 4 53.17 ( 0.63)
12.11 25. 86 39. 56
2 A il MTR 6/ 6 58. 69 ( 0.60)
13.41 28. 20 43. 65
3 BHH SuE 774D 6/ 7 1:01.32 ( 0.66)
13. 67 28.99 45. 00
No.20 B+ 100mBH# -
R 47.43
& 25~29m% > AA4E 49, 21
B K4 Pt B REFR K& B R #rEcsR (R.T)
1 KV {FAs The Paaaan 7/ 2 54.76 ( 0.57)
12. 22 26.01 40. 30
2 [h'F R B —F 7/ 4 54. 84 ( 0.63)
12. 41 26. 32 40. 58
3 IINRFRAAT IR vz ol 7/ 5 55.24 ( 0.73)
13.11 27.33 41. 37
4 FAZk R BEACON 7/ 3 56. 92 ( 0.68)
13. 08 27.49 42.11
5 e BB O ZRE DD 7/ 1 58. 24 ( 0.67)
12. 83 27.25 42. 50
No.20 B+ 100mBHE# S
L 18~24% > A6 50. 11
B K4 TR ER R K& B #EcEk (R.T)
1 Bk BE MGHE = N 7/ 6 55.85 ( 0.63)
12. 85 26. 74 41. 26
2 KR IS4 ~ v 7 i) i 58.47 ( 0.59)
13. 39 28. 06 43. 26
3 &L 1% A —x 7/ 8 1:01.26 ( 0.72)
13.13 28.03 44. 30
AR 4H2H 13:01



